AP Chemistry
REVIEW OF ATOMIC THEORY, BONDING, AND IM FORCES
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Electron Configuration of Copper and Chromium
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Example:
In terms of atomic structure, explain why the first ionization energy of calcium is

less than that of magnesium. asadglim <
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Example:

For chlorine,

a.

b.

C.

Write the extended electron configuration. Js 20)5 Dcaf < 35 33‘05

Write the abbreviated electron configuration. iNelgs 2 3‘0 5

Tell how many valence electrons it has. 7

3 30
Write the abbreviated orbital diagram. [Nel @’ TLLI? 1

Tell how many unpaired electrons it has.@

Write a possible set of quantum numbers (n, I, m;, ms) for a valence
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electron of chlorine b i, 1o, )

Is chlorinr diamagnetic?
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Name two atoms/ions with which the chlorine ion is isoelectronic.s 2,[L,) K CG'*Q
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In terms of atomic structure, explain why the atomic radius of chlorine is
smaller than that of phosphorus. C\ 3‘ P hent welinca s i~
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Electron-Pair Molecular Hybridization Bond Angle
Arrangement Geometry
Linear
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Example:

Consider the molecules ICls and ICls.
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. Draw an acceptable Lewis structure for these compounds.
. Name the electron-pair geometry and the molecular geometry of each

compound. \j
. Name the hybridization of I in these molecules. ) (,f{\-\f
. What is the major bond angle in each molecule?

. Tell whether each of these molecules is polar or nonpolar.

(Remember, lone pairs affect dipole moments!)
What allows I to have more than an octet?

Tl

s i o A
%95:%,»3 - T=¢ ﬁé{ﬂ‘ (’7“"0‘ |

cro/rao" X4 ar.

dﬁ " A";(}

f)b‘af



IM Forces
Ion-Dipole

Hydrogen Bonding NOF
Dipole-Dipole
Dipole-Induced Dipole
London Dispersion Forces

Example: ///L"Jv‘a s'/71'6

Explain why the boiling temperature of ethanol (C2Hs0H) at 1atm is 78°C while
water boils at 100°C at 1atm.
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Example:
Determine whether isopropyl alcohol (aka “rubbing alcohol, C3H70H) or water is
more volatile. Explain your answer.
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